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Decimals by Whole Numbers: S1

The City of Starkville registered an average rainfall of 4.8 inches for the last

3 days. What is the total rainfall?

The Coopers drink 25.5 !uid ounces of fresh carrot juice every day. How much

carrot juice do they drink in 7 days?

Solitaire Cruise travels at 25 miles per hour, and it maintains a constant speed.

Calculate the distance the cruise covers in 4.5 hours.

A bowling ball weighs 11.5 pounds. If there are 14 such balls in a metal 

container, how much weight does the container carry altogether?

If a yard of handmade linen costs    16.99, how much would 12 yards cost?S
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